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GENERAL INSTRUCTIONS TO THE EXAMINEES :
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Candidate must write first his / her Roll No. on the question paper

compulsorily.
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All the questions are compulsory.
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Write the answer to each question In the given answer-book only.
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SECTION - A
1) wEEed W
vultiple Choice Questions :
e 82 e s e TR SNl i o e o 8- 1]
#) Wi & A T W) R @
|) NO-=g WA q) TR

1)

Which one of the following is not included in final Accounts of non-profit

organisations:-

A) Receipt and PaymentA/c  B) Trading A/c

C) Income and Expenditure A/c D) Balance Sheet

e O o & W 2, 9 e R 3 s 3 5,000 ¥ A s S 2

AT R S 12% Tfich gt & o e R, g s @y awd- (1]

H) 62mE q) 4% VR

|) 67 3) 7V VR

Asha is a partner in a firm. She withdrew ¥ 5,000 each quarterly at the beginning

of each quarter. Interest on drawing charged @ 12% per annum. The period

for interest on drawing will be :-

A) 6% months B) 4%z months

C) 6 months D) 7% months

v 3 e o & 4% 1 5% ST § T ated g wEen , IR it R
"PER & 9§ vaw i & e T ew-g auE 7:11:2 gl = m

U &1 g i1
A 9:11 q) 2:0@2
[ 7:11 ) 11:3

Kavita and Mamta are partners in a firm sharing profit in the ratio of 4%z : 5%.
They admitted Akshita as a new partner, The new profit and loss sharing ratio
will be 7:11:2 in future. What will be the sacrificing ratio:-

A) 9:11 | B) 2:00R2

C) 7:1 D) 11:3
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¥) TR F wmmmERw  §) EE AT W

¥) WEER % Eam W g) (3@ TN
Gaining Ratio is calculated in the conditions

A) OnRetirement ofapartner B) On Death of a partner
C) On Admission of a partner D) Both (A)and (B)

o % e W ga@d Bl & AR F gaia wat - [1]
¥) wERR % g T 7) Iz d

W) UERR % EU G\ 4 3) g Emd

On the dissolution of the firm, the provision for bad-debts will be transferred
A) In Partners Capital A/c B) In Cash A/c

C) In Partners Loan A/c D) InRealisationA/c

U safth arelt wet O tftean aTfie sited HEd g g - [1]
#) 23 ) T50@mE

|) Xlaw 3 ISvma

What is the maximum annual average turnover in a one person company:-
A) ¥ 2 Crore B) 50 Lakhs

C) 1Lakh D) %5 Lakhs

ST o ST W, FHA UM W v <y aHfrewan X 10% & w2, ¥ awgan- (1]
%) AT - ) e - 3

|) e - @ 27) e - R

;n the absen'ce of article of association the maximum rate of interest on calls
in-Arrear will be 10% per annum, according to :- )

A) Table -F B) Table-E
C) Table -
) Table-H D) Table-G
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A shftram @ ?) "R w
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s view of Investor's cot ats
From the view of Investor's cOMpensation, zero cupon rate debentures are

issued -

A) AT - Premium B) AT - Discount

() AT specific interest rate D) AT- Par

HOA & YieA W shfvam T 9 Feamaia R 2- [1]
) worwa & P w gl e 8

W)  HUE! ¥ vieR Wl e

®) mugat & i @ aga o g

3) WO & VR WA TR A

The balance of premium on redemption of debenture Account is transferred:-
A) In Loss on issue of debentures A/c

B) In Loss on redemption of debentures A/c

C) In discount on issue of debentures A/c

D) In discount on redemption of debentures A/c
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Which of the following item is not related to "Resenve and surplus” sub-

Head:-

A) Capital redemptionreserve ~ B) Debenture redemption resenve

C) Securities premium D) Provision tor bad-debts

xi) form v & frf-faeo frvdtam st -t -faven &g s 2 Y
) -t 2)  waft-faer
|) gorers-famu 3) wweq - R
Which type of Financial Statement Analysis is also known as "Horirontal -
Analysis":~

A) Ratio - Analysis B) Trend - Analysis

C) Comparative - Analysis D) Common - Size Statement

Tfe vd & dhm T 75,000 w0 ¥ wvw i Fean v e wd & wiw 1 st ¥ wmu @)

Xii)
afdn waw: 15,000 @ tl.uo.oooﬁ.a‘tuﬂwm%mﬁmmmﬁmm_
)
A) T10,000 ) (10,000
|)  ¥1,60,000 g T(1.60.000)

If the net profit earned during the year is & 75,000 and stock in the beginmin
= R b - S S
and at the end of year is 15,000 and T1,00,000 respectively then 1) \
. ey - .l‘ ‘; h‘
flow from operating activities wi]| by - o

A) 0,000 B)  2(10,000)
Y TL60,000
) DY T(1.60,000)



M

frwe et W gl Rrfvg -

1t the Manks

1) m@wm ...................... mmmt{m/auﬁ“) lll
Recerpt and payment ACCOUN i3 (he summary of book.
(Cash Bills Payable)

i) AR WO, s T B % s W A B (Fewafrardia) (1]
Partners current accounts are opened under ____ capital method.
(Fixed’ Fluctuating)

i) ol & TR O ww, R 3 R - it s @ e o EgEr g SRR,
e eeeeer. TN BT (ATR) P T (et /e 1]
At the time of dissolution of firm, unrecorded liabilities paid by a partner, is
debited in A/c. (Revaluation/ Realisation)

iV) O S forg TGSl W TS A W e, 81 (TR )|
Interest paid on debenture is on profit for a company.
(Charge/ Income)

V) e Wl w1 fgem 12 Wi it sl % viier R s 21 (= /=) (1)

items to be settled within 12 months period. (non-current/ current)

Vi) TR T R R R S AN frmatt @ wifa =figa
T wtren 31 (Feww/afarem) (1]
Interest and dividend received is classified as activities in the case

of Financial enterprises. (Investing / Operating)
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v)

T T R S 1 255,000y A 9 SR 5,000 o) S
W # vix R 1]
Subscription received in current vear $53.000 by Bharat club: out standing
subscription of last vear is 35.000., \Write down the amount of subscription in
Income and Expenditure A ¢.

AR S ¥ v & WRER! ¥ et wo s & fore s 2 (1]

In the absense of partnership-deed. what are the rules (provisions) for interest

on partner's capital?

nifem, Rrie afr Rt 314 4% @ 5% & ww wted @it wEier B i ol | s
T S 8, e = T e g (1]
Garima, Priyanka and Nimisha are partners sharing profit in the ratio of
3% : 4% : S%. Nimisha retires from the firm. New share of Garima will be?
ATSER N gy F UG THA WA & JEraw § =l F fore w=n ol @efi [1]

What will be the entry for reduction in the provision for bad-debts at the time
of death of a partner?

ol & BT W, T WG g0 P 6 T 4 w, o aii i (1]

At the time of dissolution of firm, the goodwill of the firm is taken over by a
partner, what will be the journal entry?

yatirer vt & ReE 3 S & T R

Write the name of any two types of preference shares

(1]
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Vi) WIRe WOTaA aa R 1]

What s o Bearer debenture?

o farfide A 1000 waen s & R o oy s Ry 980 smeA T W FT
AV & WR AW A (1]

i)

Raj 1.1, invited application lor 1000 Equity shares. 980 applications were
received. State the name of type of subscription.

s forfids 3 awre RS | X 2,00,000 e H v i R g
22,000 ¥ % gra aen 9 A & I 2100 @@ 8% wommm 10% =g w wd fu
art g o soTes v A B 1]

1x)

Rituraj 1.td. purchased a machine worth  2,00,000 from Yashpal Ltd. The
payment was made by cheque of ¥2,000 and for remaining amount 8%

debenture of 2100 each were issued at 10% discount. Calculate the number

of debentures that were issued.

) ffirg e Rveu i 39 qas w1 Tm fafta, e < wftom e’ & sa s s
T 27 (1]
Write the name of technique of Financial statement analysis, which is also
known as 'percentile statement'?

Xi) g gedid T 87 1]
What are cash equivalents?

xii) wrw ferfe @ yg v, R B H 215,000 gearaia w0 % wvE 375,000 3,
aun wyfdt i fasfl oy e 210,000 R, 3 aftarem Rl gr s wag i (1]

Bhavesh Ltd. made a net profit X75,000 after a transfer to general Reserve of
¥15,000 and gain on sale of machinery ig 210,000, then calculate the cash

flow from operating activities.

""“3”-:\(‘(‘0“1“3“(“' |3“2] | (s & T
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Short answer type questions :

4) ﬁmuﬁaﬁu‘maﬂatm-mmmgm—ﬁﬁw‘

aa w19 T 5,00,000

Qe @ = T 4,90,000
Rafere 3= i T 10,00,000
fafrean & w == 10,20,000

Write the following items in Income and Expenditure A/c and Balance Sheet ol

Sanwer club :-

Toumament Fund T 5,00,000
Expenses on Tournament X 4.,90,000
Medical Camp Fund ¥ 10,00,000
Expenses on Medical camp ¥10,20,000

5) e o Pty e w8 4:1 3 o st e wrdieR 21 3R R A L T 3,00,000 3R
Z 2,00,000 oft| e wX® | 9% anfi g1 A = 3R T WAL B, a2 WH a6 & I
2 35,000 6t aift afdta =t }1 sv-gf Rfrdm (Rree) @ fam S 2]
Chanda and Diyanshi are partners sharing profits in the ratio of 4:1 in a firm. Their
Fixed capital were X 3,00,000 and % 2,00,000 respectively. Partnership deed provide

interest on capital @ 9% per-annum and firm incurred Loss of ¥ 35,000 during the
year. Prepare profit and Loss Appropriation A/c )

o v
_'-,sy-}ﬂ-Accountnnc. 3031
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o) st s afen v i A 1:3 8 F TR e w3, i Foom it s 70,0007
21.30,000 o1 & e @ afaem 3 TG 1, Gy 3 B w3 21 FR 0 F w9
270,000 7t 31 e & R % 0 TN % vy 5 orm Sfery 2]
Sangeeta and Sumitra are partners ina firm sharing profits in the ratio of 1:3. Their
fixed capital were 70,000 and 1,30,000 respectively. They admitted to Kavita as
a new partner for % share in the future profits. Kavita bought 370,000 as her
capital. Calculate the share in goodwill for Ka‘.vita.

7)  my, wE 3R ST U e § AR 21 | Jead, 2022 B wig T @ S T
3 = Fif = ek ot @ R 2 3,00,000 ) SR T A 10% afiE qAQ
mﬁ—aﬁm%ﬁﬁmaﬁﬂw%mgﬁlmm%mﬁmgwﬁaﬁ
areht % Fma i) 2]

Madhu, Fateh and Omprakash are partners in a firm. On Ist January, 2022 Fateh
retired from the firm. On that date the credit balance of his account is ¥ 3,00,000.
It is agreed to pay his due amount in two equal Half-Yearly installments with interest

@ 10% per annum. Calculate the amount payable to him at the end of first Half-

year.

8) %, uel ol vW ww W § 3:5:2 # ¢ Aed g0 wigen 31 31 W, 2022 R wH F A
2 4,00,000 en| TR Y | aragay, 2022 R TG A ) @ w1 0, B 1 R, 2022
& @i 4 e 7 Aifw 2]
K, L and M are partners in a firm sharing profits in the ratio of 3:5:2. The profit of

the firm is ¥ 4,00,000 on 31% March, 2022, M died on 1st October. Calculate the
share in profit for "M" from 1st April upto 1 October, 2022.
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9) Tw QA ZEESE @ funA Fren w A Wfﬁ:;mmfaﬂﬂﬂ
215,000 9 foray | AT ® wdE ufaty AR,

8]
, .. { accounts in previ
An old typewriter was written - offin the books (; 000. Jo ise the
same has been taken by a partner Mayank for T,

If firm has been dissolved.
10) ¥ ffiRed whe 3 1500 mﬁmuqfamﬁa‘““ﬁﬁ“;mq:ﬁﬁm 2
tmm (] - ¥
ww & gl § A sifufram & s - am

Manish paid ¥ 4 per share on 1500 shares in advance to Hemd;n " -
before due date. Calculate interest in the books of company according to COMP2s

Act asper Table - F.

11) F= =t ofofem fifdo; -
) anfem wogw
ii) Usfiga U=
Define the following:-
1) Unsecured Debenture

i) Registered debenture

12) e ferfires 3 weldes X100 a1t = & 800 ot w T98 st o ) 7 & g 3w &
Y e @ W e T gt § smavas wHe vt A 2]

Rajveer Ltd. purchased 800 own debentures of 2100 each from the open market
for cancellation at ¥98 per debenture pass the necessary journal Entries in the

books of the company.

13) g ferfiree a1 e srguma @ = U ww: 3.6:1 74,81 AR 2 600003

N e - ,
) e 12l
i) e il

Suman Ltd's Liquidity Ratio and Current Ratio are 3 6:1 4 -
stock for X 60,000. Calculate :- -1 and 4.8:) respectively.
i)  Current Assets

i) Current Liabilities

SNE)

SS-30-Accountancy
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14) I farfirze &1 fre o @ frem Tl O iy 12]
I hibi B 0L I
w W) ofadn T
. ___ | . 2022 2023 *)
'A) EEER A S o - 400000 T1.00.000 oo
B) =a@:- : | |
|t =1 | - 180,000 (350000 oo oo
€) =Agem - 1120000 1150000 | 30000 2500
Fill in the blanks, from the following details of Sher Ltd. :-
Comparative Income Statement
![ [tems Note Amounts (%) Change | %change
; No.| 2022 | 2023 @ |
'A) Income from operation| - | 400,000 ... 1,00,000] ..........
|B) Expenses :-
; Purchase of Material - 2,80,000 | 3,50,000] .........
C) PBT - | 1,20,000 | 1,50,000| 30,000 | 25.00
15) Fret geemd forfia Rrfirds @ weiftm 3- 2]
e 1.4.202] 31.3.2022 '
wum ¥ fre wrEuR (2)45,000 (2)50,000

Td & @RE s F graaE 290,000 form ) afmes st g e = ftar &
ufy 7 Hifery

Following informations are related to Vineet Ltd. :-

[tems 1.4.2021 31.3.2022
Provision for Taxation (%)45,000 (3)50,000

During the year provision for Taxation is made of 90,000. Calculate the amount
for cash out flow from operating activities.

16) vt forfide 3 frerfrfra wmeerlt oM 1 2~ 2l
i 142021 313202
e T (2)25,000 (3)30,000

¢ & M v iz R gew 212,500 o 3in fra w a@Rm @ 27,500 &, =
26,500 § & man *Frdw il g1 A% warg i morn S

Shoiyal Ltd. has given you the following informations:-

ltems 1.4.202] 31.3.2022
Plant A/c (2)25,000 (%)30,000

During th‘ year, a

$7.500 was sold for %6,

S&JU_Accountancy

plan_t costing 12 .50 with Accumulated dcprcciaiinn of
500. Calculate the cash flow from the "Investing-Activities”.

3021
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17) q{&h&uw#ﬁ -l‘iﬁmlfa?‘lng ] | g™, 2022 mMﬁHﬁﬂ Vs
ﬁ@tﬁr&ﬁmﬁm%mimﬁm,mﬁﬁj #) P T AT HYa tm.nunu_wrm-
ifd wrn 233,000 (A1) mmmt,wﬁmﬁmgm & wog, AT WG A
m—mﬁuﬁﬁﬂﬁﬂﬁmﬁnmﬁmwl (3]
Nandu and Shny are partners in a fipy, <haring profit in the Ratio of 4:3. They
admitted to Vinod as a new partner for 1, share in profits on Ist April, 2022, '['hc_
halance sheet showed a halance of Geneml Reserve 284.000 and Debit balance of
Profit and Loss X35.000 on this date. pygs the journal Entries in the book of firm.
to write-off General Resenve and debiy pajance of profit and loss A’c., at the time
of Admission of a partner.

18) . et o 9 0 T 4 4:3:2 3§ W ke gy wrhew 1 T ok @ v wEw w0 A
w,@ﬁmﬁﬁaﬂﬁﬁﬁﬁﬂmm%mﬁma@%@mﬂm
WY ww: 31.08.0003 X72.000 1 g favta foren wn 6w & qu & qoht @M T0 @™-
mm%mmmw@,wﬂmmmammmmmn

3]
Som, Mangal and Budh are partners in a fir sharing profit in the ratio of 4:3:2
Mangal Retires from the firm. Afier making all adjustments relating to Revaluation,
goodwill and accumulated profit etc. the capital accounts of Som and Budh showed
the credit balance of 21,08,000 and 272,000 respectively. It was decided to Adjust
the capitals of Som and Budh's in their new profit sharing ratio. Calculate the cash
to be bought on 10 be paid off by partners.

19) Fr & s sfafeat -
) H X 95 W Pt s man, R 2105 v (Fr) 2wy
i) %R w110 i i mn, R 100 @ iy (%=r3) Brmng
OISR W ek g T100 @)
Journalise the following:-
) A debenture issued at T 95; repayable at 2105,
i) A debenture issued at X110; repayable at X100.
The face value of debenture is 10

3]

$S-30-Accountancy [3021]
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wm we HikE-

) A 3 s wafes e ®

i) = i & feie we
i) TRUTEHAT &% WY W

iv) W % Tohe T W

15

T v - e v, wm @ srafEtA

13}

The debt-equity Ratio of Sonu Ltd. 15 0.8:1. Which of the following would increase,
decrease or remain unchanged (the debt - Equity Ratio), Explain:-

i)  Further issue of equity shares.

i) Issues of Bonus shares.

i) Redemption of debentures.

iv) Sale of goods on cash basis.

©us ~q

SECTION - D

21) Wit 3R W Uek 8 | 3:7 7 o9 Ated §e ARG 8, 31 W, 2022 W 3 st fage

fre 8- (4]

it T | v z

@ faren 4,00,000 | Twg 3,60,000

e 3,00,000 | ¥R 4,60,000

ESIRCIES (-)E=a =m

wHa - 5,00,000 A 20,000

w1 -4.00,000 | 9,00,000 4,40,000

it 800,000

| 16,00,000 16.00,000

S""-“’"M‘cuuntancy | Turn Ove
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e~ FAAT: -
a | wmA, 2022 & “mgA” B FE At g gy g@n P
) A AR A @ fem 23,00,000 g a2
i) A e e E |
i) wH & wfa w1 gearE ?40,{)Uomﬁﬁmﬂmﬁ‘@“§amq€'mé'
iv) @ ufaen o et w8t 3:4:3 ¥ 90 H fofg o 2
Sanjeev and Bhanu are partners in a Firm sharing profit in the ratio of 3:7. Their
Balance - sheet as at 3 1% March, 2022 was as follows:-

Liabilitics T | Assets 3
Bill Payable 4,00,000 |Cash 3,60,000
Reserve | 3,00,000 | Debtors: 4,60,000
Capital A/c's - (—)Provision for
Sanjeev -5,00,000 bad-debts
Bhanu - 4,00,000 20,000
9,00,000 4,40,000
Machinery 8,00,000
16,00,000 16,00,000

Other - Informations:-
On 1st April, 2022 they admitted "Rahul" on the following terms:-

Rahul will bring ¥3,00,000 for his capital in cash.

1)
i) All debtors are good.
i) The goodwill of the firm was valued at ¥40,000, Rahul does not bring any

cash for this.
They decided sharing profit in the ratio of 3:4:3 in future.

iv)
Prepare "Revaluation A/c" and "Partners Capitals A/c".

Fyar/OR

|3l}21|

T M T T
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1, 79 3R am R A 210 ﬁﬁma\ﬁﬁ@mg, 31w, 2022 ® 3T faga
(H-T9) 30 TR -

. — T T
i ST
o 3,00,000 | T 1,80,000
| W Hd 1,50,000 | "@famy | 120,000
. Y 3,50,000
- 3,00,000 e 5,50,000
= - 2,40,000
#m - 2,10,000

7,50,000

12,00,000 12,00,000

2 foir A7 R, 6 1 anm, 2022 A w1 @ Rerem SR - S0 w0 39 R @ e &
T 1 e 390,000 W R | vt ) qe § CHeEn % ge wn faR Sk

P, Q and R are partners in a firm profit sharing in the ratio of 2:1:1. Their Balance
sheet as at 31st March, 2022 was as follows:- https:/www.rajasthanboard.com

Liabilities 3 Assets 2
Creditors 3,00,000] Cash 1,80,000
General Reserve 1,50,000f B/R 1,20,000
Capitals : Stock 3,50,000
P -3,00,000 Plant 5,50,000
Q-2,40,000
R-2.10,000

7,50,000

12,00,000; 12,00,000

They decided to share the profits equally w.e.f April 1st, 2022. On this date, the

goodwill of firm was valued at ¥90,000. Prepare the "Partners Capital A/c"

in the
books of firm.



. 18 ) , .. .
22) Waﬁﬁfﬂznggouqqmmgmuﬁ 3ty (29 TR E) T e Afw T Sl m

R T8 # & T 7= (o) T i 3 2000 T 37 e tﬁuﬁafﬂ‘ﬁ?ﬂﬁ
T8 ufa mmmgﬁﬁawﬁalmﬁwﬁﬁmmmwmﬂ
AT e wm 4]

Rajshree Ltd. forfeited 2500 equity shares of T10 each (X9 called-up) for non-
payment of the allotment money of X 5 per share. Of these 2000 equity share \i«crc
re-issued to Smita at T per share as ¥ 8 called - up. Journalise the above transactions
in the books of company and make "Share-forfeiture" A/c.

Hya1/OR ,
m%ﬁégﬂo.ooommﬁ%%mm-ﬁaﬁﬁaﬁmﬁmaﬁm%a 310w
aim%,nﬁﬁﬁmmﬁéa%—
HEGA W TS5 9 3w
IEET R T4 vl 3ig
T F Hfew 7w 2]l i
60,000%11131aivﬁé:i%imaqﬁaqnaimﬂgq,agﬁmfuﬁtmmm:f
1) 10,000 3magat # amaza @ v aw Ry
i) 30,000 e wt qut anae fsar
i) V19 AT H FUTIAR ~ FA w fea )
FTA W9 TN R o Sl

Arti Limited invited applications for 40,000 equity shares of X 10 each, Amounts
payable are as follows:-

On Application X5 per share

On Allotment ¥4 per share

On first and final call ¥ per share

Application for 60,000 shares were recejved. It was decided:-
1) To refuse allotment to the applicants for 10,000 shares,
i) Toallot in full to applicants fo 30,000 shares. |
i) Toallot in pro-rata among the remaining applicants:-

Calculate the Amount 1o be recejyeq on allotment.



19
00 g
a1 9% Tt w1 e yrat o P TRy 4]

) Al 10% g R
it) uﬁm%sﬁfﬁmm
mmwﬁﬁﬁmlmmmﬁmﬂmﬁmml

Kanhaiya Ltd. purchased furniture 0of 1,98,000 from Ravi Ltd. Tt was agreed that
purchase consideration is to be paid by issuing 9% Debentures of ¥ 100 each with

following conditions:-
i) If AT discount of 10%.
i) If AT premium of 10%.

Record necessary journal entries and state the number of debentures that were

issued in each case:-
Feat/OR

17 fafiee = 2000; 8% o= 1 o, 2022 1 T 100 Tt Frifa g, <t fr 4 o uvem
A A 10% shitram T Tye T 21ETTE TR S T w9 314,000 o0
mﬁﬁwﬁﬁﬁm%mmmuﬁwaﬁq,ﬂ%ﬁ%ﬁ%@ﬁmm%
AT I YT g

Ranu Ltd. issued 2000; 8% debentures of T 100 each on 1st April, 2022, which are
redeemable in lump sum after 4 years at a premium of 10% out of profits. The
balance of Debenture Redemption Reserve is available for 14,000. Give journal
entries at the time of redemption in the books of company, If Ranu Ltd. is "other

unlisted” company except share market.



